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Subtracting Across Zero Name:
Use subtraction to solve the following problems. Answers
1.
1) 5,009 2) 2,006 3) 9,002 4 2,007
-3,611 -1,573 -4,250 - 923 5
3.
4,
5 6,002 6) 8,004 7) 8,005 8 3,009 >
- 3,444 - 4,754 - 306 - 487 6
7.
8.
9 5,008 10) 5,004 1) 1,002 12) 8,005 9.
-2,414 -2,792 - 686 -5,720
E— E— E— — 10.
11.
12.
13) 4,008 14) 9,007 15 1,007 16) 1,006 13.
- 586 -2,463 - 170 - 338
- - - o 14.
15.
16.
17) 8,005 18) 7,002 19) 9,006 20) 6,005 17
-1,741 -1,162 -2,288 —_2,996
18.
19.
20.
1-10 [95][90[85]80[75] 70]65]60] 55 50
[ M ath ] www.CommonCoreSheets.com 3 11-20145|40(35(30|25(20(15|110| 5| O




=

Subtracting Across Zero Name: Answer Key
Use subtraction to solve the following problems. Answers
N 1,398
1) 5,009 2 2.006 3 9.002 4 2007
-3,611 -1,573 -4.250 - 923 , 433
1,398 433 4,752 1.084
3 4,752
4 1,084
5 6,002 6) 8,004 7 8,005 8 3,009 > 2,558
- 3,444 -4.754 - 306 - 487 s 3,250
2 558 3,250 7.699 2 522
- 7.699
8 2522
9 5.008 100 5.004 1) 1.002 12)  8.005 o. _ 2,994
-2.414 -2.792 - 686 -5,720 o 2212
2 594 2212 316 2 285
11, 316
1. 2,285
13)  4.008 14 9,007 15 1,007 16) 1.006 13 3422
. 586 -2.463 - 170 - 338
3 422 6. 544 837 668 . 6544
15, 837
16. 668
17) 8,005 18) 7,002 19 9,006 20) 6,005 7 6,264
-1,741 -1,162 -2.288 - 2,996
6,264 5,840 6,718 3,009 18. 9,840
o 6,718
20 3,009
1-10 195(90(85|80| 7570|6560 |55 |50
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C:# Subtracting Across Zero

Name:
Use subtraction to solve the following problems. Answers
316 2,212 2,558 2,522
1,084 7,699 1,398 3,250 1.
433 4,752 2,594 2,285
2,
1) 5,009 2) 2,006 3 9,002 3
-3,611 -1,573 -4,250
- - - 4.
5.
6.
7.
4 2,007 5 6,002 6) 8,004
- 923 - 3,444 -4,754 8.
9.
10.
11.
7) 8,005 8 3,009 9 5,008 1
- 306 - 487 -2,414
100 5,004 11) 1,002 12) 8,005
-2,792 - 686 -5,720
M odifi 1-10 | 9283 75|67 [58[50] 4233|2517 |
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